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QID : 1 - In the following question, select the missing number from the given series.
678, 673, 668, ?, 658, 653

TeFAfaTed woal # foU 1w fashedl H § oo 37 AT HlioiT|

678, 673, 668, ?, 658, 653

Options:

1) 663

2) 664

3) 666

4) 665
Correct Answer: 663
Candidate Answer: 663

QID : 2 - In a certain code language, "SCORE" is written as "TDPSF" and "FLING" is written as "GMJOH". How is "PENALTY" written in that code language?

o fafse #1s HI9T F, "SCORE" &1 "TDPSF" 2T "FLING" &' "GMJOH" {3 ST &1 S8 HIE #7197 3 "PENALTY" #T fhe Y& foram seem?

Options:
1) QDOZKUZ

2) OFMBKSY
3) QFOBMUZ

4) ODMZKSY
Correct Answer: QFOBMUZ
Candidate Answer: QFOBMUZ

QID : 3 - In the following question, select the word which cannot be formed using the letters of the given word.

CORPORATION
TreTeE fashout 3 A dg e AT ST fET 1T 2reg; & 3R T TN Flh oAgT S=A1aT ST HehelT|

CORPORATION
Options:
1) PAINT

2) ROPE
3) PORTION

4) POTION
Correct Answer: ROPE
Candidate Answer: ROPE

QID : 4 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Bomb
2. Bing
3. Broom
4. Bost
5. Boost

TeF=A T Areal T Aseehien # 37T ATel T & AR fordd|

1. Bomb
2. Bing
3. Broom
4. Bost
5. Boost
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Options:
1) 21543
2) 21453
3) 25143

4) 25413
Correct Answer: 21543
Candidate Answer: 21543
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QID : 5 - In the following question, select the related letters from the given alternatives.

AP:ZT::MD:?

TAFAT e 9ot # T 91¢ fashodt & & HfAT 3R 1 9T
AP:ZT::MD:?

Options:

1) NH

2) N

3) OH

4) 0]
Correct Answer: NH
Candidate Answer: NH

QID : 6 - In the following question, select the odd letters from the given alternatives.

TrAfaf@d weat & v arv fashedt # @ fawer 37wt &1 gaw)

Options:
1) AF

2)IN
3) EK

4) ZE
Correct Answer: EK
Candidate Answer: EK

QID : 7 - If 'A' means '+', 'B' means ', 'C' means 'x' and 'D' means '+, then

14D2A3C4B8="?

afe A T HS '+, B #T HE ', 'C T 3 X FAr D F 3T g, ar

14D2A3C4B8=7?
Options:

1)5

2) 11

3)-5

4)-11

Correct Answer: 11
Candidate Answer: 11

QID : 8 - What will come in place of question mark (?) in the given equation?

1327?22?26?1=33
v 71T gefteoT & g et (?) & TATH IR FI7 3TT?

1327?22?26?21=33
Options:

1)x, +, + and —

X, =, + ddr —

2) +,x, +and -

+, X, + dAT —

3)—, +,xand +

— +, XUl +

4) +, -, xand -

+, +, X dUT -

Correct Answer: +, +, x and —
+, +, X AT —

Candidate Answer: +, +, x and —
+, £, X dUr -
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QID:9-If1x6x3 =631and5x3x2 =325, then

4x1x6="7?
e 1x6x3=631Tar5x3x2=23258, ar

4x1x6="7?
Options:

1) 146

2) 461

3) 164

4) 614

Correct Answer: 164

Candidate Answer: 164

QID : 10 - Arrange the given words in the sequence in which they occur in the dictionary.
1. Nest

2. Nerd

3. Newly

4. Nine
5. Nimble

TAFATe T sl T AEHI 3 el aTel A & AR fordd |
1. Nest

2. Nerd

3. Newly

4. Nine
5. Nimble

Options:
1) 21354
2) 21345
3) 23154

4) 23145
Correct Answer: 21354
Candidate Answer: 21354

QID : 11 - In the following question, select the missing number from the given series.
3,9,27,81,?

TF=ATe e weat # 74U 1T fashoul & & oot 3ish 71d IS

3,9,27,81,?

Options:

1) 242

2) 243

3) 240

4) 210
Correct Answer: 243
Candidate Answer: 243

QID : 12 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
EJ0,?

T 3efshat fem T &, TS e & Ueh U oo §| fow 1w fashodl & & ag @el fashed giAw, ST 31egshal 1 g |

EJ0,?

Options:

1)P

2)Q

3)R

HT
Correct Answer: T
Candidate Answer: T

QID : 13 - In the following question, select the odd word from the given alternatives.

AT weat # 4T 910 fashoul & & fawa ereg &1 giav|
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Options:

1)pPIain

HHTT

2) Tree

g&t

3) Plants

qier

4) Flower

Gl

Correct Answer: Plain
HHATT

Candidate Answer: Plain
HATT

QID : 14 - In the following question, select the odd number from the given alternatives.

TeAfafld weat & v 1w fashedt & & fawa dear &1 giaw|

Options:
1) 11

2)19
3) 25

4) 31
Correct Answer: 25
Candidate Answer: 25

QID : 15 - In the following question, select the odd letters from the given alternatives.

TF=ATe e woat # U 91C fashodt & & fawer 37eRT I gfav|
Options:

1)IM

2) WA

3) Uy

4) NO

Correct Answer: NO

Candidate Answer: NO

QID:16-If4#3 @5=17and 5 # 6 @ 4 = 34, then
7#3@8=?
IE4#3@5=17d5#6@4 =343, d

7#3@8="7
Options:

1) 33

2) 29

3)23

4) 39

Correct Answer: 29
Candidate Answer: 29

QID : 17 - In the following question, select the related word from the given alternatives.
Eyes : See:: Mouth:?

Trafaf@d weat # faw v fshedt # & Heftd aee & gfaw)

A qmem: i HE:?
Options:

1) Listen

Gelell

2) Eat

GreT

3) Walk

el

4) Lift

3OTeT

Correct Answer: Eat
T

Candidate Answer: Eat
T
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QID : 18 - In the following question, select the related number from the given alternatives.
83:81::104:7?

Frafafld wea # Ry arw faewedt # & waftd dear & 9w

83:81::104:?

Options:

1) 101

2) 102

3) 103

4) 104
Correct Answer: 102
Candidate Answer: 102

QID : 19 - In the following question, select the related letters from the given alternatives.
MIKE : NJLF:: COW: ?

TerAfated weat # feU a1v fashet # & Heftrd 3Rt 1 gl

MIKE : NJLF: : COW: ?

Options:

1) COM

2) DPX

3) DPY

4) CPX
Correct Answer: DPX
Candidate Answer: DPX

QID : 20 - In the following question, select the word which cannot be formed using the letters of the given word.
PERTANING

TerAfated fashedl 7 & a8 oee iaT St U 1T 2req; & 3R T T e 61 ST S Fehell|

PERTANING

Options:

1) GUIDE

2) TRAIN

3) RING

4) RAIN
Correct Answer: GUIDE
Candidate Answer: GUIDE

QID : 21 - T remembers his birthday is before oth July. T's wife remembers his birthday is after 7th July. On which date of July is his birthday?

T G § o6 38 STerfeeT 9 Foms & qd 81 T deelt 1 16 § o 36T STeafest 7 SJoms & TRaTd 8| IHH e e Jors i iet & fafdy r g2

Options:
1)7

2)9
3)6

4)8
Correct Answer: 8
Candidate Answer: 8

QID: 22 - A is brother of B. B is sister of C. C is son of D. E is sister of D. How is B related to E?

A, BHF AE §I B, CHr a5 &1 C, DH 7 &1 E, D &1 961 | B, E & et T HaiftreT 82
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Options:
1)pDaughter
LEl
2) Niece
A
3) Sister
dgoT
4) Mother
HTAT

Correct Answer: Niece

ErIEl

Candidate Answer: Niece

At

QID : 23 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. Some rats are cats.
IL. All cats are wet.

Conclusions:
I. No rat is cat.
II. Some rats are wet.

A fT 91T 99T & $© YA 3R IeTeh d1e 37 HYAT R MR Fo s U 310 &, grefifeh 37 A= A T2 § Bewiar &1 Fenchh &1 Tl forsend 08 31k T
Fuifia # & e v wiq & e, e 71w =&t & 3R ) gfaawed &

HYel:
L 3o g e 8
I1. gaft ofoeat afefr &)

fasay:

1. 1% T el e &

I %o g T 8

Options:

1) Only conclusion (I) follows.

Fad fasay (1) T8 g

2) Only conclusion (II) follows.

Fad fasay (11) T8 8|

3) Both conclusion follow.

arat &Y sy ady €1

4) Neither conclusion (I) nor conclusion (II) follows.
o ar sy (1) 7 & sy (1) &Y &1

Correct Answer: Only conclusion (II) follows.

Faer ey (I1) TE &1

Candidate Answer: Only conclusion (II) follows.

Faer s (I1) wé &1

QID : 24 - In a certain code language, "LESS" is written as "NGUU". How is "MORE" written in that code language?

T faferse s #1T A, "LESS" T "NGUU" foram JTdr §| 38 IS H1T 7 "MORE" &' fohd 9o for@r smuem?

Options:
1) OQTG

2) 0QSF
3) NOTG

4) 0QSG
Correct Answer: OQTG
Candidate Answer: OQTG

QID : 25 - In a certain code language, "PIC" is written as "56" and "PIT" is written as "90". How is "SEC" written in that code language?

s f3frse s T 7, "PIC" S "56" TUT "PIT" I "90" for@r ST &1 38 s #1977 "SEC" Y 5q v for@r suam?

Options:
1) 51

2) 50
3)52

4) 54
Correct Answer: 54
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Candidate Answer: 54

QID : 26 - Neha bought a steel bucket for Rs 576 with a discount of 10% on the marked price. Find the marked price of the bucket.

AT o 3HfShd Hed W 10% I T & d1e 576 TIX H Teh TEhel Y et WA | oY &I 3Hihd Hed Il |
Options:

1) Rs 620

620 T9I

2) Rs 640

640 T

3) Rs 660

660 T

4) Rs 680

680 TUI

Correct Answer: Rs 640
640 T

Candidate Answer: Rs 640
640 T

QID : 27 - A number when divided by 16 leaves a remainder 4. When the square of the number is divided by 16, what will be the remainder?

Th TEIT A 16 T FNTHT et IR 4 AV I3 &1 ST 37 T&AT & 97 ol 16 T fysnfaa foam s, ar forder 9w sgem?
Options:

1)1

2)2

3)3

40

Correct Answer: 0

Candidate Answer: 0

QID : 28 - What is the digit at units place in the product (653 x 308 x 402 x 413)?

3[UTi (653 x 308 x 402 x 413) # Fh[S & TUT W T ATell 3ieh FT 2
Options:

1)4

2)3

3)2

4)8

Correct Answer: 4

Candidate Answer: 4

QID : 29 - The sum of 8 consecutive integers is 4. What is the lowest integer?

8 SIANTAR quiieh AT 1 INeT 4 §| Fa BIET quiieh e Far g2
Options:

1)-3

2)0

3)-2

4)-1

Correct Answer: -3

Candidate Answer: -3

QID : 30 - If Ram buys a dozen table for Rs 8000 and sells each table for Rs 800, what will be his profit percentage?

TH T EoteT Aol 8000 T H TWlear & 3R ufa AT 800 9 WX 7 T § | 3HHT o187 UiArd T gram?

Options:

1) 10%

2) 15%

3) 20%

4) 25%

Correct Answer: 20%
Candidate Answer: 20%

QID : 31 - Two toy cars X and Y run at average speed of 0.5 km/hr and 1.5 km/hr respectively. If car X moves in South direction and toy Y in East direction
beginning from the same origin at the same time, what will be the distance between the two after 4 hours?

ar T&relley arell 1, X T Y shaer: 0.5 fhefl/eier 3R 1.5 fhefl/eier & 3 =rel & el §1 31T R X SfaToT & feem 7 3R R Y oquer &y forem & ven & oig & weh &
THI IX Teloll HRFH I &, Al 4 ° S 3eTeh srer by gy 71 giam?
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Options:
1)p7 km
7 fR.A.
2) 210 km
2V10 f.5.
3) V39 km
V39 ..
4) V19 km
V19 ..

Correct Answer: 2v10 km
2V10 R

Candidate Answer: 2v10 km
2V10 fF.AT.

QID : 32 - What least number must be added to 754 so that the sum is completely divisible by 59?

754 W HA § FHH el He&am sl =A1feT arfds Feor et 59 & qot faenrsy g sme?
Options:

1)21

2)13

3) 16

4)7

Correct Answer: 13

Candidate Answer: 21

QID : 33 - 32240 is how much percent of 62000?

62000 T =T Tfaer 32240 &2
Options:

1) 46%

2) 2%

3) 48%

4) 52%

Correct Answer: 52%
Candidate Answer: 52%

QID : 34 - A can do a piece of work in 40 days. B does the same work with 60% more efficiency. How many days will B take to complete the work alone?

A T SIH T 40 AT & I FR Fehell &1 B 3 A T 60% 3T F=Ielcdl F AT &1 B 3Hehel 3 A T QT A & AT vt a1 dam?
Options:

1) 30 days

30 &t

2) 18 days

18 feet

3) 15 days

15 feet

4) 25 days

25 fet

Correct Answer: 25 days

25 =T

Candidate Answer: 18 days

18 feaT

QID : 35 - How many of the following number are divisible by 42?

2646, 1008, 1470, 656, 2478, 1826
AT & & frdel T&IT 42 § Femsa 7

2646, 1008, 1470, 656, 2478, 1826
Options:

1)2

2)3

3)4

4)5

Correct Answer: 4

Candidate Answer: 4

QID : 36 - The average monthly income of P and Q is Rs 42000. If P quits his job and remains jobless, the average monthly income of P and Q comes down to Rs
12000. What was the monthly salary of P when he was in job?

P 31T Q & 3iraa AT 3m 42000 TUF &1 319K P 379 silamT BISHT sRISTTR gf SITaT &, aF P 31T Q & 3 arf@ss 3myr et 12000 T93 & ST 1 #ra?fraﬂﬁgtr
P & F1fA 3 forcelr oi?
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Options:

l)pRs 50000

50000 931

2) Rs 40000

40000 9

3) Rs 60000

60000 9

4) Rs 80000

80000 9

Correct Answer: Rs 60000
60000 T9r

Candidate Answer: Rs 60000
60000 T

QID : 37 - The total surface area of a cube is 2904 cm2. What is the volume of this cube?

TS ©IT T HFYUT 56 47Tl 2904 W2 &1 39 6T T I FAT &7
Options:

1) 11748 cm3

11748 ¥.#.3

2) 10848 cm?

10848 .73

3) 10748 cm?

10748 ¥.#.3

4) 10648 cm3

10648 .73

Correct Answer: 10648 cm3
10648 .73

Candidate Answer: 10648 cm3
10648 .73

QID : 38 - A seller offers 11% discount on a mini-refrigerator with a marked price of Rs 8200. If he still earns a profit of Rs 600, what is the cost price of the
refrigerator?

T Tashell 8200 T9Y el Hed aTel Teh I IhIST WX 11% T &l ¥ 39K ThT 81 a8 600 T T 1Y AT §, Tl HTST T 36 o T 87
Options:

1) Rs 6698

6698 T

2) Rs 7600

7600 9

3) Rs 7350

7350 9

4) Rs 4960

4960 TII

Correct Answer: Rs 6698
6698 TUA

Candidate Answer: Rs 6698
6698 TUY

QID : 39 - With a given annual interest rate a sum of Rs 10000 gives a total compound interest of Rs 1881 in 2 years. What will be the total simple interest in 3
years for the same principal amount with the same annual interest rate?

T U a7 arfdes saTer aX & A 10000 T T i o 2 a§ F 1881 T 1 GHI Thqig sATST fAAT § | AT aATi¥eh sToT I & & A1 GATA YT & forw 3
Y # GHIY GIIROT ST 4T §IM?
Options:

1) Rs 2700

2700 TG

2) Rs 3000

3000 T9

3) Rs 2500

2500 T9

4) Rs 2300

2300 T9

Correct Answer: Rs 2700

2700 9

Candidate Answer: Rs 2700
2700 T9
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QID : 40 - A total of 2,60,000 students appeared for class 10t exam in a state. If a total of 1,97,600 students pass the exam, what will be the percentage of
students who failed in the exam?

WWﬁMﬁﬁmﬁgﬂz,eo,oooaﬁ?mgm 3R el 1,97,600 ST o G&T 9T Y, A Sl gt arel ST T YdRret T gram?
Options:

1) 76%

2) 24%

3) 28%

4) 26%

Correct Answer: 24%

Candidate Answer: 24%

QID : 41 - The monthly salaries of A and B are in the ratio 11:21. If both of them get a salary increment of Rs 4000 per month, the new ratio becomes 3:5. What is
the new monthly salary of A?

A T B & ATRE dcfal T 3T 11:21 §1 3R St 1 4000 T94 1 718 a1 gig ferel §, @ 72T HqdTer 3:5 &1 ST &1 A T 707 ATHah daat 71 §?
Options:

1) Rs 11000

11000 9

2) Rs 15000

15000 9

3) Rs 25000

25000 ¥4

4) Rs 22000

22000 T4

Correct Answer: Rs 15000
15000 ¥

Candidate Answer: Rs 15000
15000 9

QID : 42 - Two cyclists A and B run their cycles at average speed of 16 km/hr and 12 km/hr respectively. If A runs in North direction and B in East direction
beginning from the same origin at the same time, what will be the minimum distance between the two after half an hour?

2T AISTehel HAR A T B shaAer: 16 Tarely/aer 3iX 12 forali/der &t e orer & wefed 81 3R A 3ot T e # 31K B qza 1 e # weh &1 g & Uah &1 @Hg wX wefelt
IFH I §, A 3T 6 S, 3eTeh olrer hY et gy a1 giam?
Options:

1) 14 km

14 ..

2) 2v14 km

2V14 ..

3) V10 km

V10 R

4) 10 km

10 .o,

Correct Answer: 10 km
10 f.5 .

Candidate Answer: 10 km
10 fm. .

QID : 43 - A shopkeeper incurs 10% loss by selling a washing machine for Rs 16200. At what price should the washing machine be sold to earn 15% profit?

Teh GRIAER T 16200 F0 3 Teh aTfRIIT HM Srefel 0X 10% T FhTe Bl §1 15% o1t Ired & FIT 3 arfRiar 5efiet 1 fovctay w9 #F arerar =nfge?
Options:

1) Rs 18700

18700 9

2) Rs 19700

19700 9

3) Rs 20700

20700 ¥93r

4) Rs 20250

20250 ¥93r

Correct Answer: Rs 20700
20700 F9r

Candidate Answer: Rs 20700
20700 9

QID : 44 - Radha can do a piece of work in 16 days. Meera and Shashi together can do it in 12 days, while Radha and Shashi together can do it in 8 days. How
many days will Meera take to do the work alone.

e fonel T T 16 ot 3 QT o Hehell &1 #RT 3R Ry arer et 38 1 o 12 R 7 qur X R €, Safes e 3 «afRr ary et 3¢ e o 8 ot 7 @
Y T § | FRT 38 T 1 300 U LT 7 ekt et wef?
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Options:

1) 40 days

40 f&eT

2) 28 days

28 fet

3) 32 days

32 fet

4) 48 days

48 f&eT

Correct Answer: 48 days

48 fe1

Candidate Answer: 48 days
48 feet

QID : 45 - If Rs 3276 is divided in the ratio of 6:13:15:8 among A, B, C and D respectively, what will be the share of A?

g 3276 T I HAW: A, B, C 2T D & 1l 6:13:15:8 & Aearct 3 TASTTSIT foham ST &, < A o1 Toeam &ram giem?
Options:

1) Rs 468

468 TII

2) Rs 1170

1170 T

3) Rs 624

624 TII

4) Rs 568

568 TII

Correct Answer: Rs 468
468 T

Candidate Answer: Rs 468
468 T

QID : 46 - What is the sum of all 3 digit positive integers divisible by 11?

11 & fe77s et arelY 3 3fert T T eretTeates quifer Gean3it &1 AT 3 §?

Options:
1) 44550
2) 43550
3) 42550
4) 45550

Correct Answer: 44550
Candidate Answer: 44550

QID : 47 - If a shopkeeper buys a dozen chair for Rs 7200 and sells each chair for Rs 708, what will be his profit percentage?

IS T GHEER T gotet FET 7200 T8 & wliedr § 3 iy Fdf 708 T & o &ar &, ot 39T e wfrera a0 gham?
Options:

1) 18%

2) 16%

3) 14%

4) 12%

Correct Answer: 18%

Candidate Answer: 18%

QID : 48 - 2898 is how much percent of 12600?

12600 T fohc=TT Tfcrera 2898 §?
Options:

1) 19%

2)21%

3) 23%

4) 27%

Correct Answer: 23%
Candidate Answer: 23%

QID : 49 - A shopkeeper offers 19% discount on mobile phone with a marked price of Rs 7400. If he still earns a profit of Rs 500, what is the cost price of the
phone?

Teh GehITER 7400 T9 3ifehel Hed dTel Ueh HISTSel BieT 9T 19% e &l §1 3R fhT ¢f ag 500 T T 1T AT &, T il I 36T Hed 47 8?
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Options:

1) Rs 6900

6900 FI

2) Rs 8340

8340 TU

3) Rs 5494

5494 9

4) Rs 4950

4950 TU

Correct Answer: Rs 5494
5494 9

Candidate Answer: Rs 5494
5494 9

QID : 50 - What is the compound interest for a sum of Rs 20000 in 2 years, if the rate of interest is 18 % per annum?

AT SATST H1 &T 18% 9T I g1, aT 20000 T &7 2 AY H THJ& sATST Fheiadl gram?
Options:

1) Rs 7748

7748 39

2) Rs 7848

7848 39

3) Rs 7648

7648 39

4) Rs 7948

7948 9

Correct Answer: Rs 7848
7848 9

Candidate Answer: Rs 7848
7848 9

QID : 51 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

If revenues remain healthy, the (1)/ government would, over time, get the necessary (2)/ fiscal room to rationalizes multiple GST rate. (3)/ No error (4)
Options:
1)1

2)2
3)3

4) 4
Correct Answer: 3
Candidate Answer: 2

QID : 52 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

In July, the government promulgate (1)/ a law that enables the banning (2)/ of political parties. (3)/ No error (4)
Options:
1)1

2)2
3)3

4) 4
Correct Answer: 1
Candidate Answer: 3

QID : 53 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

I had my right shoulder during the play.
Options:

1) browsed

2) broke

3) grounded

4) injured

Correct Answer: injured

Candidate Answer: injured

QID : 54 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Police had the driver.
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Options:

1) obtained
2) detained
3) sustained
4) objected

Correct Answer: detained
Candidate Answer: objected

QID : 55 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Scion

Options:
1) Root

2) Cause
3) Heir

4) Source
Correct Answer: Heir
Candidate Answer: Root

QID : 56 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Shriek

Options:
1) Peep

2) Toot
3) Yell

4) Whisper
Correct Answer: Yell
Candidate Answer: [ NOT ANSWERED ]

QID : 57 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.
Proscribe

Options:

1) Admit

2) Ban

3) Praise

4) Include
Correct Answer: Ban
Candidate Answer: Include

QID : 58 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Unitary

Options:

1) Whole

2) Incomplete

3) Integral

4) Entire
Correct Answer: Incomplete
Candidate Answer: Entire

QID : 59 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Former

Options:

1) Ancient

2) Above

3) Departed

4) After
Correct Answer: After
Candidate Answer: After
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QID : 60 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Dilate

Options:

1) Stretch

2) Develop

3) Compress

4) Enlarge
Correct Answer: Compress
Candidate Answer: Develop

QID : 61 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Word of mouth

Options:

1) Give money for talking a lot about nothing
2) Through the verbal sharing of information

3) Bring order and discipline in the company

4) To leave someone in the time of difficultly
Correct Answer: Through the verbal sharing of information
Candidate Answer: Through the verbal sharing of information

QID : 62 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase. Pull strings
Options:

1) Fixed the issue

2) In a dilemma

3) To use influence

4) Losing hope
Correct Answer: To use influence
Candidate Answer: To use influence

QID : 63 - Improve the bracketed part of the sentence.

Now that the child rights commission has (register) the case, it will go to the police for investigation, he said.
Options:
1) registered

2) registering
3) will register

4) No improvement
Correct Answer: registered
Candidate Answer: registered

QID : 64 - Improve the bracketed part of the sentence.

The Home Department (have issued) separate guidelines on the participation of children in processions and public functions.
Options:
1) will issued

2) has issued
3) were issued

4) No improvement
Correct Answer: has issued
Candidate Answer: were issued

QID : 65 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

One who see bright side of things
Options:
1) Optimist

2) Superspecialist
3) Conventionalist

4) Educationalist
Correct Answer: Optimist
Candidate Answer: Optimist
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QID : 66 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

One who loves own country
Options:
1) Chariot

2) Adroit
3) Idiot

4) Patriot
Correct Answer: Patriot
Candidate Answer: Patriot

QID : 67 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Conservative

2) Coneservative
3) Concervative

4) conservrative
Correct Answer: Conservative
Candidate Answer: Conservative

QID : 68 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Garmmatoical

2) Grammatical

3) Grammetical

4) Garammatical

Correct Answer: Grammatical
Candidate Answer: Grammetical

QID : 69 - Rearrange the parts of the sentence in correct order.

Accept only those economic

P: developmental activities that are

Q: and economically rewarding

R: people friendly, environment friendly

Options:

1) QPR

2) RPQ

3) RQP

4) PRQ

Correct Answer: PRQ
Candidate Answer: PRQ

QID : 70 - Rearrange the parts of the sentence in correct order.

Pulses are

P: vegetarian diet
Q: a major source
R: of protein in a

Options:

1) PQR

2) QRP

3)QPR

4) RQP

Correct Answer: QRP
Candidate Answer: QRP

QID : 71 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Co-education helps the boys and girls to and understand each other well. They become more broad-minded and towards the gender. They
interact freely with , thereby overcoming hesitation and shyness. Thus, co-education leads to a and harmonious relationship between boys and girls.

the boys and girls to
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Options:
1) intermingle

2) separate
3) divide

4) unmix
Correct Answer: intermingle
Candidate Answer: intermingle

QID : 72 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Co-education helps the boys and girls to and understand each other well. They become more broad-minded and towards the gender. They
interact freely with , thereby overcoming hesitation and shyness. Thus, co-education leads to a and harmonious relationship between boys and girls.

more broad-minded and towards
Options:
1) disapproving

2) tolerant
3) biased

4) prejudiced
Correct Answer: tolerant
Candidate Answer: prejudiced

QID : 73 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Co-education helps the boys and girls to and understand each other well. They become more broad-minded and towards the gender. They
interact freely with , thereby overcoming hesitation and shyness. Thus, co-education leads to a and harmonious relationship between boys and girls.

the gender.
Options:
1) like

2) akin
3) opposite

4) same
Correct Answer: opposite
Candidate Answer: opposite

QID : 74 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Co-education helps the boys and girls to and understand each other well. They become more broad-minded and towards the gender. They
interact freely with , thereby overcoming hesitation and shyness. Thus, co-education leads to a and harmonious relationship between boys and girls.

freely with other,
Options:

1) every

2) each

3) some

4) one

Correct Answer: each
Candidate Answer: one

QID : 75 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Co-education helps the boys and girls to and understand each other well. They become more broad-minded and towards the gender. They
interact freely with , thereby overcoming hesitation and shyness. Thus, co-education leads to a and harmonious relationship between boys and girls.

co-education leads to a and harmonious
Options:

1) sick

2) infirm

3) delicated

4) healthy
Correct Answer: healthy
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Candidate Answer: healthy

QID : 76 - The purpose of which sector is not just to earn profits?

O 817 T 3227 T o197 31ToTd et 18T YelT &2

Options:

1) Private

forsir

2) Public

BICEIDED

3) Neither public nor private
A ar St auT 7 & e
4) Both private and public
St aar ardefae gt
Correct Answer: Public
BICEIDED

Candidate Answer: Public
BICEICED

QID : 77 - Which among the following is included in the formal sources of credit?

TFafaf@d # & @i a1 819 & 3igaie aidr 7 aFAfed g7
Options:

1) Employers

IGEETI

2) Cooperatives

TEHIRAT

3) Moneylenders

4) Traders

STARY

Correct Answer: Cooperatives
TEHIRAT

Candidate Answer: Traders

ITIRY

QID : 78 - One term of the President of India is for how many years?

R & AU ST Teh PRI fholel ast & T gar 82
Options:

1) 6 year

6ay

2) 5 year

5ay

3) 4 year

49y

4) 7 year

7ay

Correct Answer: 5 year

5ay

Candidate Answer: 5 year

5a¥

QID : 79 - Right against exploitation is given in which article of Indian constitution?

HRAT TR & 5T o @ & 2NVoT & {A%g 31fOpr e arar 872
Options:

1) Article 23, 24

3eTe0e 23, 24

2) Article 15,16

370 15,16

3) Article 30,31

31T 30,31

4) Article 32

3eTe0E 32

Correct Answer: Article 23, 24
3eTeo 23, 24

Candidate Answer: Article 23, 24
IeTede 23, 24
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QID : 80 - Teachings of Mahavira, which were written about 1500 year ago, are currently present at which place?

HETER & RA&TT, S & Ferser 1500 9§ qF ford a1$ o, adaT # gl 3ufedd 82
Options:

1) Mumbai, Maharashtra

PSS, FERTST

2) Bhopal, Madhya Pradesh

T, HET Y&2T

3) Valabhi, Gujrat

Foofdll, R

4) Kolkata, West Bengal

FITRIdT, ITRTH T

Correct Answer: Valabhi, Gujrat

Fooldll, R

Candidate Answer: Bhopal, Madhya Pradesh
$gTeT, FET Ue2r

QID : 81 - Where was Mangal Pandey hanged on 29 March 18577

29 AT 1857 & HITel UIS Y gl Bray & 718 o2
Options:

1) Meerut

o

2) Barracpore

RFR

3) Agra

3ATIRT

4) Delhi

el

Correct Answer: Barracpore

TER

9
Candidate Answer: Barracpore

TER

9
QID : 82 - What is the shape of the orbit of earth going around the sun?

T & TR IR TFHT T aTelT T2 Y FET HT ITHR T §?
Options:

1) Circular

qRIT

2) Elliptical

SrdgedrR

3) Spherical

TATHR

4) Irregular

3Ry

Correct Answer: Elliptical

AegcdPR

C
Candidate Answer: Elliptical

Egcdeh R

[A

QID : 83 - From south to north, main land of India extends between 8°4' N and latitudes.

ETRIOT & 3T T AR AR T HET 3 7 AedR 8°4' 3. aar ____ B
Options:

1) 68°7'N

68°7'3

2) 37°6'N

37°6' 3.

3)37°6'S

37°6'<.

4)8°4'S

8°4'g.

Correct Answer: 37°6' N
37°6' 3.

Candidate Answer: 68°7' N
68°7'3

QID : 84 - Which disease among the following spreads when affected persons excreta gets mixed with drinking water?

Rrfaf@d Sl a1 Vo1 weniad cgfeaal & Aol & 9 & Irell & a1 e & thorar 87
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Options:
1)pCancer
&R AT
2) Cholera
g
3) Tuberculosis
&7 9T
4) Asthma
gHT

Correct Answer: Cholera
(=l

Candidate Answer: Tuberculosis

&7 T

QID : 85 - Pulse beat is measured from

qed diT & A S g
Options:

1) Artery

HA

2) Nerve

GIEED]

3) Capillary

EaRcal

4) Vein

GEs)

Correct Answer: Artery
HAT

Candidate Answer: Artery
GHAT

QID : 86 - Which one of the following binds with haemoglobin irreversibly?

rAfaf@d & ¥ Fi9 O v 3uRada T 9 F SRR & a1 ¢ Sar §?
Options:

1) Methane

;AT

2) Carbon monoxide

FIaT AN 3TFAZS

3) Ethane

3qT

4) Chlorine

FART

Correct Answer: Carbon monoxide
FTeTeT AANNHTFASS

Candidate Answer: Carbon monoxide

FIeeT A3iTFaSS

QID : 87 - A force acts on an object which is free to move. If we know the magnitude of the force and the mass of the object, then newton's 2nd law of motion
enables us to determine the object's

T el 38 aE] W H AT § S Tofet & ToIT Fqciq | AT g Tof 1 AT T G F1 G A1 § ol wgeat & aTiel T q@l v gof aeq] 1 fFuifa
e H FETH FATT

Options:
1) velocity
gar

2) speed

3

3) acceleration

:

4) distance

%

Correct Answer: acceleration

:

Candidate Answer: acceleration

:

QID : 88 - Sound travels fastest in .

eafer ¥ gEd AT AT FA B
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Options:
1) petrol
i

2) steel
eI

3) nitrogen
ATSersteT

4) kerosene oil

FUHT T

Correct Answer: steel
FETT

Candidate Answer: steel
FETT

QID : 89 - Organized files can be stored in which of the following?

IS BIgelt ol e lld & & gl TIdId fhar 5T T 82
Options:

1) Folder

BT

2) Label

ECCH

3) Index

Exea

4) Filler
ek

Correct Answer: Folder

Hresy

Candidate Answer: Folder

Larc:y

QID : 90 - Which of the following acid is also known as battery acid that is used in car batteries?

Rfaf@d F @ Sl & e A Sl 35ar 97 T ST & ST 39T FR S F fFar sirar g2

Options:
1) H,SO4

2) HCI
3) H,CO3

4) H3PO4
Correct Answer: H;SO4
Candidate Answer: H,SO4

QID : 91 - Aqua regia is a mixture of .

LECINEDR T U FROT §

Options:

1) three parts of concentrated nitric acid and two parts of concentrated hydrochloric acid
Al Al 37er & T HET TUT Tig gTSSIFelReh 31Fcl I &t T

2) three pars of concentrated hydrochloric acid and one part concentrated nitric acid

Tl gTESIFelReh 3Fel & died ST AT Ueh R A1sfeeh 3Fd Tig &

3) three parts of dilute hydrochloric acid and 1 part of dilute nitric acid

] BTSZIFelliteh 3Tl & cilel $TFIT AT ofa] aATgieeh 3Tl &1 1 fewar

4) three parts of dilute nitric acid and one part of dilute hydrochloric acid

] ATSTEH 3eT o AT ST TUT ] ETS Gl 1keh 3l T Ueh $TIT

Correct Answer: three pars of concentrated hydrochloric acid and one part concentrated nitric acid
TG ETSSIFAIR 37l & dieT $9N AT Ueh T AATs e 35T Tig &

Candidate Answer: [ NOT ANSWERED ]

QID : 92 - The large carnivores or the tertiary consumers exist at which level of the food chain?

3 ATAGRY IT il ST $istel el & fhg T o 39Ty 82
Options:

1) First

qgell

2) Second

LRy

3) Third

T

4) Fourth

Ttar
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Correct Answer: Fourth
tar

Candidate Answer: Second

QID : 93 - 'Prashikshak'’ is the education portal for District Institutes of Education and Training.

TSre fRveqr qam ufdeor et & & faw ufder' fem ada g1
Options:

1) Students

BIEN

2) Schools

Taearet

3) Colleges

Hiorat

4) Teachers

RvaTent

Correct Answer: Teachers

IREED

Candidate Answer: Teachers

et
QID : 94 - Alessandro Volta is famous for the invention of

Todgrdleer & 3nfaseR & fow ufdg 7
Options:

1) Battery

§eir

2) Electron

Folerelel

3) Television

cenfaster

4) Dynamite

EIE

Correct Answer: Battery

CEay)

Candidate Answer: Battery

e

QID : 95 - What is the name by which Legendry Milkha Singh is also known?

e e &g g a1 & o o g 87
Options:

1) Flying Sikh

FeTSeT TFE

2) Iron man

ot o

3) Wizard of Athletics

TYATRFH F STgIR

4) Rawalpindi Express

AT TS

Correct Answer: Flying Sikh
TSI R

Candidate Answer: Flying Sikh
FerTSaT e

QID : 96 - Which among the following is not a stringed instrumentalist ?

FAfafld & & Fi 91 aR arer aegaT 767 67
Options:

1) Sitar

IR

2) Sarod

Wi

3) Santoor

TR

4) Tabla

dselr

Correct Answer: Tabla
GEGU
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Candidate Answer: Tabla
GECI

QID : 97 - Which among following coach has won Dronacharya Award, 2017 for Hockey?

ﬁmﬁ@aﬁ#%&ﬁa#ﬁ@r*ﬁvaﬂwﬁw, 2017 Sfrar g2
Options:

1) Roshan Lal

AU el

2) Sanjay Chakarvaerthy
Tl Tshadt

3) G.S.S.V. Prasad

S T, vg. 41w e

4) P.A. Raphel

dr. T I

Correct Answer: P.A. Raphel

dr. . T
Candidate Answer: [ NOT ANSWERED ]

QID : 98 - Who is the author of the book named "Business at the speed of Thoughts"?

"sie Te g TS it dieH" ATHS JEdT & EH i 87
Options:

1) Jim Carey

o F

2) Charles Dickens

Ty e

3) Bill Gates

[EEEIC)

4) Nirmal Verma

[GECCE)

Correct Answer: Bill Gates
et e

Candidate Answer: Bill Gates

e |

QID : 99 - Which among the following is not among the founding members of Organization of the Petroleum Exporting Countries (OPEC)?

FAfafld & & Fia a1 9gifers FaTas geif & Hared (3Ue) & GEaT9s Heedl # edAtod 8l 82
Options:

1) Iran

i

2) Iraq

sTﬁ?

3) Saudi Arabia

HFET 3RS

4) Nigeria

AT

Correct Answer: Nigeria
AR

Candidate Answer: Nigeria

BIESIES

QID : 100 - Operation Cactus was an operation by Indian Armed forces to foil the coup in which neighbouring country?

HTORRIT FFeq AR & S Toll GaRT hd TSIHT S 7 TEATICE T ATHH Flel FT AT AT?
Options:

1) Bhutan

Tt

2) Bangladesh

EicE cl

3) Nepal

R

4) Maldives

AT

Correct Answer: Maldives
ATeEa

Candidate Answer: Bangladesh

AT
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